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The process for making ‘new schemata’
1. Accommodation
2. Operation
3. Organisation
4. Extrapolation
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The stage for the Psychosocial crisis ‘Generativity -

stagnation’

1. Adolescence stage
2 Middle Adulthood
3. Late Infancy

4 Pre Adulthood
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“The dependence of motor and mental developments on
language development” supports this law of development

1. Development is not uniform in all the stages.

2. Development proceeds from general to specific.
3. Development follows an orderly.

4. Different developments are interdependent.
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A researcher, who studied on ‘Jukes family’

1. Pearson

2. Allport

3. Dugdale

4. Kellog
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The stage for formation of ‘self concept
1. Later childhood

2. Adolescence

3. Early childhood

4. Infancy
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Army Alpha test is an example for

1. Individual, nonverbal, performance, power
2. Group, verbal, paper pencil, speed

3. Group, nonverbal, paper pencil, speed

4. Group, verbal, paper pencil, power
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In a dual Approach-Avoidance conflict what is the nature of
decision to be made?

1.
2.

4.

Choosing between two attractive goals

Choosing between one attractive and one unattractive
goal

Choosing between multiple attractive and unattractive
goals

Avoiding making any decision at all.
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‘Creativity is new process that will concern about any art,
language, music or science’. The definition is given by

1.
2.
3.

4

Hutchinson
Medwick
Chaplin
Asbell
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Incorrect statement about cross-sectional approach

1. There is no loss of selected subjects

2. It takes short period of time

3. It is more expensive compared to longitudinal approach
4. Different groups of various ages can be observed
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Nature, Human forms, Animal forms are the parts of following
aspect in inkblot test

1. Location

2. Content

3. Determinants

4. Originality
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11.

12.

According to Crow & Crow what is the basis for learning
1. Maturity

2. Environment
3. Motivation
4. Experience
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The learning curve which shows negative direction is

1. Typical learning curve
2. Concave learning curve
3. Convex learning curve
4. ‘S’ type learning curve
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14.

Intrinsically motivated people are primarily motivated by

1.
2.
3.
4.

Rewards
Punishments
Recognition

Interest
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‘Preparation of oxygen in laboratory’ is an example for

1.
2.
3

4.

Attitude learning
Rule learning
Systematic learning

Associative learning
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15.

16.

Which psychological process is described by the phenomenon
where mentioning Nehru’s name brings ‘Rose’ to mind?

1.
2.
3.
4.

Concept formation
Perception
Association of ideas

Recitation
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Bilateral transfer refers to

1.
2.

No transfer of learning across different subjects

Transfer for physical skills from one side of the body to
the other

The enhancement of new learning by previous
knowledge

The interference of new learning by previous
knowledge
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There is no relationship between learning and maturity. The
theory that connected with this statement.

1. Vygotsky theory of learning

2 Piaget’s theory of cognitive development

3. Bruner theory of instruction

4. Bandura theory of Social learning
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Which of the following is not a factor related to family that
influences children’s learning?

1. Family disorganization
2. Birth order

3. Peer interaction

4. Parental Aspirations
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19.

20.

Which of the following is an example of an abstract concept?
1. The colour of a flower

2. The shape of a triangle

3. The sound of a bell

4. The concept of democracy
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The objective factors affect perception

a) Wholeness b) Similarity
c) Nearness d) Brightness
1. a, b only

2. a,b&c

3. a,b,c&d

4. a,c&d
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22.

According to ‘5E’ learning model. The process of student
inquiry, the stage that directs teaching learning.

1. Explore
2. Explain
3. Empathy
4. Evalution
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‘Students are able to answer questions orally and have
difficulty in reading words’ is

1. Dysgraphia

2. Dyslexia

3. Dyscalculia

4. Agraphia
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24.

25.

The committee proposed the learning without burden.

1.
2.
3.
4.

Kothari committee
Kasturi rangan committee
NPE-1986

Prof. Yashpal Committee

80 B BT (HSTHoDS el

1.

L

£ 508

520 SoKS E&
NPE-1986

& 0H5S 508

According to “RTE-2009, The section states that
governments are responsible for training to teachers.
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The chapters in NEP-2020 about School Education
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1
2
3.
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1-8
5-10
9-19
16-24
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27.

28.

‘NCERT’ stands for
‘NCERT’ 938025080

1. National Committee on Educational Research for
Training

2. National Council of Educational Research and training

3. National Committee of Education and Review on
Training

4. National Council for Educational Technology Research

‘Isync’ is

1 Mobile tool

2 Download tool

3. Antivirus software
4 Video Encoder
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One of the following is not a factor for Mental disability
1. Down’s Syndrome

2. Cretinism

3. Phenylketonuria

4. Turner’s Syndrome
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29.

30.

One of the following is not a computer Virus

1.
2.
3.
4.

Trojan Horse
Time Bomb
File Destroyer

Freeware
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The main objective of Learning Enhancement Programe(LEP)

1.
2.
3.
4,

To improve the attendance of students
To improve the sports skills in students
To improve student’s learning out comes

To improve the Rote memory skills in students
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61.

62.

63.

She got right to the top, the worlds most sought after
multipercussionist with a mastery of some thousand
instruments and a hectic international schedule.

Choose the synonym of the word ‘hectic’

1. curious

2 sensation
3. fault

4 busy

She showed her brave side during the crisis.
Identify the antonym of the word ‘brave’.

1. Courageous

2 Coward
3. Fearless
4 Bold

Identify the term for a clause that cannot form a sentence by
itself and is connected to a main clause:

1. Compound clause
2 Dependent clause
3. Independent clause
4

Complex clause



64.

65.

66.

67.

Choose the sentence that correctly transforms the complex
sentence into a compound sentence:

“Since it was his birthday, he received many gifts.”

1 It was his birthday, and he received many gifts.
2 He received many gifts, but it was his birthday.
3. It was his birthday as he received many gifts.
4

He received many gifts because it was his birthday.

The term for a person who deals with problems and situations
by focusing on practical approaches.

1. Realist
2 Pragmatist
3. Quixotic
4

Pessimist

Choose the modal verb that is least formal when asking for
permission:

1. may

2 could

3. might

4 can

She is an expert in digital marketing. , she was

invited to speak at the conference.
Choose the option that fits the blank.
1. Similarly

2 For instance
3. Therefore

4 In brief
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69.

70.

71.

The term ‘subject — verb agreement’ refers to the agreement

betweenthe  and the verb:
Choose the option that fits the blank.
1. object

2 predicate
3. subject
4

adverb

Choose the preposition that can be used with ‘married’:
1. married with

2 married to

3. married at
4

married in

Identify the sentence in the simple future tense.

1. She is going to the market

2 They have been waiting for you.
3. He will call you tomorrow.

4 I had finished my work

Identify the sentence that is NOT a past tense sentence:
1. He is writing a novel.

2 She played the piano.

3. They had finished their project.

4 I was walking to the park.
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74.

75.

Identify the type of sentence: “Please help me with this.”
1. Declarative
2 Imperative
3. Interrogative
4

Exclamatory

Identify the correct use of an apostrophe in a contraction for
“do not”.

1 dont'
2 do’nt
3. don’t
4

do’not

The following should be included in the Legacy section of a
biographical sketch.

1. Early life

2 Career and achievements
3. Current position
4

Awards and honours.

The following sentence uses the definite article before a
singular noun which stands for a whole class:

1. The lion is ferocious.

2 The man on the tree.

3. Stephen is in the market.
4 The earth



The flight was delayed ~ bad weather.
Choose the correct preposition that fits the blank.
1. ahead of

2. due to

3. in back of
4

except for

Identify the sentence that uses an interjection at the beginning
correctly:

1. Alas! I forgot my purse.

2 It is a beautiful day, wow!

3. He was late, Oh no!

4 I finished my homework, Yay!

Identify the interjection that would be used to express a mild
emotion, typically followed by a comma.

1. Ouch
2 Yay
3. Hey
4 Well
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80.
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82.

Choose the correct sequence of the words in which they occur
in a dictionary.

1. matter

1i. material
1ii. mate

1v. match

1. 1v, iii, 1i, 1
2. i1, iii, v, 1
3. 11, 1i1, 1, 1V
4. iv, i, 1, 1il

Choose the correct spelling of the word.
1. genaresouly

2 genirously

3. generously
4

generesly

The following is the correct indirect form of:
He says, “I am un well.”

1. He says he is unwell.

2 He says that he is unwell.

3. He, said that he is unwell.

4 He says that he was unwell.

29

The following is NOT a meaning of ‘run into

1. to encounter

2 to avoid

3. to experience difficulties
4 to collide
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Read the following passage.

India's ageing population presents challenges related to
healthcare, financial security, and social support for the
elderly. As life expectancy increases, the demand for elder
care and pension systems grows. Developing comprehensive
social support systems and healthcare services for the elderly
is essential to address the needs of an ageing population.

Identify the primary challenge associated with an ageing
population:

1. excessive youth unemployment

2 increased demand for elder care and pension systems
3. reduced life expectancy
4

decreased health care needs.

Read the following passage.

India's ageing population presents challenges related to
healthcare, financial security, and social support for the
elderly. As life expectancy increases, the demand for elder
care and pension systems grows. Developing comprehensive
social support systems and healthcare services for the elderly
is essential to address the needs of an ageing population.

Developing comprehensive social support system is
for addressing the needs of an ageing population:

1. optional

2 unnecessary
3. secondary
4

essential

Choose the characteristic that a good Teaching Learning
Material (TLM) should have:

1. high cost

2 irrelevance to the teaching item
3. visually appealing and novel
4

complexity for students.
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88.
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Choose the objective of teaching poetry:

1. to focus on scientific texts.

2 to develop imaginative and creative abilities.
3. to reduce language skills.
4

to focus on prose comprehension

Choose the correct factor that has historically influenced the
status of English in India:

1. introduction through Macaulay’s Minutes in 1835.
2 complete eradication during British rule.

3. introduction through French colonial efforts.

4 irrelevant in post — independence India.

Choose the correct description of recognition vocabulary.

1. words used in speaking and writing.

2 words used to replace other words.

3. words understood when read or heard.

4 words representing actions and qualities.

Identify the benefit of language labs:

1. limited student engagement

2 providing a structured e-learning environment
3. reducing communication skills

4 decreasing comprehension levels



90.

Choose the correct phase of teaching where planning before

entering the classroom occurs:

1.

2.
3.
4

Interactive phase
Post-active phase
Execution phase

Pre-active phase
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92.

93.

The expression 4x’y—5xy° +1 isa

1 Monomial
2 Binomial
3. Trinomial
4 Constant

4x°y = 5xp” +1 D500 930358 2.8
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The order of rotational symmetry for any object is at least
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95.

Identify the FALSE statement from the following

1.

To paint a blackboard we use the concept of
finding the area

To fence a field we use the concept of finding perimeter

To fix tiles to the floor of a room we use the
concept of area

To measure how much of water a cylindrical tank can
hold, we use its total surface area concept
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Raju read 30% of the Social book, containing 250 pages. Then
the number of remaining pages to be read are
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97.

98.

To make idly batter, rice and Urad dal are needed in the ratio
of 2:1. Rice needed to prepare 675 grams of idly batter is (in

grams)

3G 208 SArD Baoe® 2:1 IYYS® DAkogo HO
DSH BHP @SVEI0. 675 TEne 3ER0s ST T
BSOS DADg0 (IrS0e)

1. 225
2. 425
3. 450
4. 475

Subtract 24 from 3 times of a number, we get 66. Then
the number is

2.5 00Pg Boo¥), 3 B $o08 248 SBIHA 66 IS

s éoa:ag

1 30
2. 33
3. 18
4 22

Identify the TRUE statement

1. Sum of two proper fractions is always a proper fraction

2. Sum of two proper fractions is always an improper
fraction

3. Product of two proper fractions is always a proper
fraction

4. Product of two proper fractions is always an improper

fraction

DEGDS (HIBI°Y) KHGoSod.

1 B (E5 DTN F0B0 JYIPET (55 DY

2. B0 (550 HINO I0E0 IYIPET eHED DY
3. Bo (53 HIN© 0R0 JYHPET (5 HHI

4. Bo (53 HIN© 0RO IYHPET @DESH DY



99.

100.

101.

Diagonals of a Kite

1. Perpendicularly bisect each other
2. Bisect each other but not perpendicular
3. Perpendicular but not bisect each other

4. Perpendicular and both are equal in length

2.8 D0 §g®a
1. DB ©0eRVIEPOLS D000

2. D)0 DIBIPOLES BR0E0E7a0,
520 00T SOE)

3. ©020MT SOETAD S° DEB)BO BIENPOLES D08%
4, 020 GO0 SDBAIN VIS F&EHd EOR &oeramw

J7+9+11=
l.

“ %8 %

2
3.
4

Shahid bought an article for ¥784 which included GST of 12%
then the price of the article before GST was added is

L& 28 S 12% GSTS® 502 784 5 £I3 GST Sewds
S008%0 €8 S0P o

l. 760
2. 704
3. 700
4. 694



102.

103.

104.

The value of x> —y+2, when x=1 and y=-1

x=1508330 y=—-120035 x° —y+2 eI

b=
N

In A4ABC, if ZBAC =80°, AD 1L BC, ZBAD =50° then
ZACD =

\®ebeso ABC §° ZBAC=80°, AD L BC, ZBAD = 50° ©200@
ZACD =

1. 40°
2 50°
3. 60°
4 70°

Identify the TRUE numeral from the following sentence.
“Four crores five thousand and sixty”
808 F°5°gR) W00, HEGT HOPIL KGoSod.
“Teeold 57 0P ez’

40050060

40500060

1

2.

3. 45000060
4 40005060



105.

106.

Sum of the integers between —10 and 11 is
—10 3o8ain 11 S8y Ko J°g Doge 3ogo

1. 0
2. 1
3. 10
4. 11

Integer —3 to 5 are written on slips, (one number on one slip),
kept in a box and mixed well. One slip is chosen from the box
without looking into it, then the probability of getting a

non positive integer is

I Dedep -3 5008 5 SEH PrPRopges o (2879,
QTP 2.8 vopg), 8BS I e SO, SeSyD)Sor
28 DB BHIQoB SISY JPRoPs TSEIS Ko B0

1L
3
. 4
9
3. 2
9
4. 2
3



107.

108.

109.

In a pie diagram, whole circle represents

1. Sum of the values of components
2. Product of the values

3. Both 1 and 2

4. neither 1 nor 2

) DG0S’, 7Y, $)B0 (FAAEE0 SroHIH
1. IO DOVNO 00
BT JQOHO OO

1 o8asw 2

L

1 3780 08330 2 55 3o

2024

The value (-1)" is
(=1)"" Boogy. Jens
1. 2024

2 2024
3. 1

4 -1

Each interior angle measure of a regular hexagon is
2.5 (55 A0S’ (38 00858 w0 Jewss

1 108°
2. 120°
3. 60°

4 132°



110.

111.

112.

If polyhedron has 6 vertices and 12 edges then the number of
faces it has

2.8 5050 Dotos® 6 %q:;@o 558050 12 90500 &08

S0P 60@5
1 14

2. 12

3. 8

4 10

Minimum possible interior angle in a regular polygon is

2.5 (550 250088’ PRy ©8 DY) oSy §eaxn

1
2
3.
4

30°
60°
72°
90°

The amount of surface enclosed by a closed figure is called

1.
2.
3.
4.

Area
Volume
Perimeter

Circumference

28 DOSYB DOV ©I00SWES &IOS [FPoS DOITe0

1.

W N

23050
WIDBITE0
Do

e
Rlela)



113. The largest composite number in the first 10 natural numbers
is

00658 10 Bz 0PgoS” 98 Y VoY HoPS

&
1. 4

2. 8

3. 9

4. 10

114. Frequency of the observation 2 in the
data$,2,3,3,2,6,1,7,9,5,3

S3°0¥50 5, 2,3, 3,2, 6,1, 7, 9,5, 35
$83o0%¥0 2 oK), FiSIYG00

W N = O

1.
2.
3.
4.

115. The term ‘Ars Mathematica’ belongs to this language

1. Greek
2. English
3. French
4. Latin

‘Ars Mathematica’ &3 550 ($08 225 BoBIE

L i®

2. 304
3. (ov
4. oS



116. The following are used to test students standards beyond the
learned conceptual level

1. Try these

2. Think - Discuss

3. Do These

4. Individual activities

I HF) ST D0 Tred Iorgie oo HBFoBD
1. Relewts[eln el

&8 D0508 - SRS

39 R0H0&

L

;5§_§ofie§ §Q@1§®o

117. Circle : 2zr : : Square : ?
Above question is related
1. Question form
2. Analogy form
3. Association form
4. Completion form
S0 1 2mr 1 SS0 1 ?

2 (83 B+ SIS BodS (1Y)
1.



118.

119.

According to Hogben, “Mathematics is the mirror of

civilization.” This statement corresponds to this value of

mathematics

1. Cultural

2. Social

3. Disciplinary
4. Moral

SPABS (PS80 “KBS0 THOESH o erodd.” B (9ISS0
D K38 JenSH Do20HOVIH.

1.

L

@obw@§
JPOE
B85
S8

The statement, “the teacher should be proficient with
mathematical expressions and possess the ability to explain
briefly and clearly with no ambiguity” stated by

“Kedes 355§§C58’a S9E350, VOOLS BHoT VPO, HogRoM
BNfoTo I (o) ﬁmmggo éiﬁ@goﬁwaﬁa 5OR &ozrd.” ol @@Jé plet!

1.

2
3.
4

SCF - 2011
RTE - 2009
NEP - 2020
NCF - 2005



120. Marks allotted for “Representation” in summative assessment
ROYIeT S 8 50809" (S BASEHU)E0” &I
Aoy (D638 Tera0DS Sty e

1. 20
2. 10
3. 25
4, 5



121.

122.

Diseases like dysentery and malaria are caused by

1
2.
3.
4

Bacteria
Fungi
Protozoa

Algae

BT TN 5380300 SHSOAT [0 FHo0 Ko

1.

L

aréaoﬁr
8do|cren
(PSS

BITeen

The animals which give birth to young ones are called

1
2.
3.
4

Oviparous
Nocturnal
Diurnal

Viviparous

2POK EI BOMIOS JU° WO

!_.\

6:9063-593"0)653"&)
QIO
AN TORIIV

%%’S@Dfsgmo



123.

124.

When one body rolls over the surface of another body, the
resistance to its motion is

1. Static friction

2. Sliding friction

3. Fluid friction

4. Rolling friction

2.8 3299 8’8 TP &I0B00D TP, T

ESOES &0d I8 K

1 E@é Rfetec

2 letIeCibloto

3 (DI DTed

4 (A)eSTetitletc

The full form of CNG

1. Complete natural gas

2. Compressed natural gas
3. Carbon nitrogen gas

4. Conserved natural gas

CNG &%), D) 530
L 508 IS mgS
50(3Y SIS S
962)5 ROE NZSS
§<5_23§35 FHES s

W N



125. The finest Indian teak is found in this forest

1. Satpura National Park
2. Panchamarhi Reserve Forest
3. Nallamala Reserve Forest

4. Neelagiri Biosphere
EARTOTITmEX) S5 &% De SORS e

1. ©°e§5°0)6° 2RO ETPESSS0
2. D0S508 A3S58es 8&(’5:3

oJ°
3. 599:53@ @2505?68350

4. DoAd Axesses 8&55

126. The celestial bodies which are called ‘Shooting stars’ are

1. Comets
2. Asteroids
3. Satellites
4. Meteors

“Aeedon 3835“)7? DOSTE PAY IR
L &S
@:‘oocrowgen

5O &nEes

WD

e@zf@



127.

128.

The traditional incandescent electric bulbs used at home have

1.
2.
3.
4.

Two terminals and one filament
One terminal and two filaments
Multiple terminals and single filament

Single terminal and single filament

JOEY TC FODEPONE FEPTed G wey) CHOKO &oB

1.
2.
3.
4.

B FyTeo, 28 YO0l
28 Y50, Bok HeD0eTen
&I SyTen, 2.8 HOI0d
28 $Y50, &8 HOB0s

Carples are the bones found in

1.
2.
3.
4.

Chest
Back bone
Wrist
Skull

Sl’doo)e% e DSn¥en BIS® sosron

1.

W

AN

)08

SoedBen
(5]

O



129. The correct statement about magnets

1. A magnet has only attractive power.
2. Freely suspended magnet always shows
north - south directions.
3. In a magnet mid point has more attractive power.
4. A magnet has only repulsive power.

@A, 0BV HOOROD VTS TG0

L 0 0o S50 58 3§ aotwod.

2. )T PBrEBS @ohI), 080 JYRPE
&ESS - 5389 YOS S,

3. ©0HI) 08 $¢5§ Ko e do) .

4. ©0HI) 0T D SI00 ST ¥§ &oenod.

130. The part of the Nephron that filters the blood

1. Proximal convoluted tubule

N

Glomerulus

3. Distal Convoluted tubule

4. Loop of Henle

ESRY) SEFA50 JFrS Booy), Ko

1. DN VOSVSIHO
Ao

™

CSrdg L0395 I°Fo

e N

33°Q %553533



131.

132.

Farmers use this tool to harvest the crops

1. Spade

2 Sickle

3. Plough

4. Hoe

Behen §'8en §aNmId Be DAS0EPD GHBEATD.
F8

e N19)

t—\

)

W N

é‘@%ﬁ

World water day is on
1. 22" March

2. 22" April

3

) 22" June
4. 22" July
(05 o BS SyS0
L 509y 22
2. S 22
3. o 22
4. 822



133. The Medieval period of Indian history was
1.  7"to 17" Century CE
2. 8" to 17" Century CE
3. 7™ to 18" Century CE
4. 8"to 18" Century CE
ESTY SHSS” $e5gA0K S0

L 847 508 175 ¥5°90 S5
8.4, 8 08 175 ¥o7»0 SEK
8.5, 7 5008 185 ¥5°w0 S8

L

8.5, 8 508 185 ¥oryo SEK

134.  “English education has enslaved us” - stated by
1. Mahatma Gandhi
2. Ravindranath Tagore
3. Jawaharlal Nehru
4. Subhash Chandra bose
“300m> DeSg HIY) eIV Hr0Y08” @ DEYK) T
L Saymrod

2. BoEad oK
3.  axsberd JTur
4. XogrR SoEE S



135. The Nuclear Mineral found in large quantities in the Monazite
Sands of Kerala is

1. Uranium

2. Cobalt

3. Thorium

4. Plutonium

SEHSD Il 308 JZF oS ©d 9850 &)
OED PO

1. 05208050
2 &ord
o
3. &%80%0
4 ‘QgéS’SK)o‘ioo

136. The capital city of ‘Anga’ Mahajanapada was

1. Vaishali
2 Champa
3. Shravasti
4 Ahichatra

‘oK’ 0IBBIHTIE ToEEE

1. L)
2 WOD
3. (o)
4

eﬁ?mz:{)@



137. Find out the correct statements in connection with Evergreen

forests

a. These types of forests are grown in the areas with high
rainfall and temperature.

b. Teak, Sal, Bamboo, Sandalwood are grown in these
forests

c. These forests are grown in the Himalayas, North —

Eastern states and Western Ghats

d. Trees in this forests, are very tall and they contain
broad leaves

DES TrOS TETFON HO0OZO HPS FSgOD Koot

a0 SEIS0 20 &S &) (Fromd
53 @6m§©o BT,

b. &%, S, I, 0550 S0 e B e EIHosS
EKISTPON.

. ISredDH (Focren, BewSy O, $8)% S5
58 098P0 NLORISCOW.

d 356 e FEIT &0, IT0 JEoH SOA Gotraw.

1. b, c,d
2. a,b,c
3. a,c,d
4. a,b,c,d



138.

139.

Identify the mismatched pair regarding the location of the
Nuclear power plants in India

1. Kalpakkam - Tamilnadu

2. Tarapur - Maharastra

3. Ranapratap Sagar — Uttar Pradesh
4. Kaiga - Karnataka

TESTIOS'D wendiHys Solmres, © JOTY) TULOH
020800 SIPT° BEIBNS AV HJ00&.

1. §e>°)§o - SAFIC
oIS - TR
TETPSRINE - SBBHRF

W

Sne - SO0ees
0— )

The world’s first seamless celestial globe was built by the
scientists of

1. Gupta

2. Delhi Sultanate
3. Maurya

4. Mughal

(590508 Inoey D53 e B PR°Y Aend
Be o) TRIB0 ErFOROTD.

1. K%

2. &9 doersoen
(ep)

3 353"65

4 S



140. In terms of area among the states of India, Andhra Pradesh

stands in
TBSTIS LS’ IYYHBON oGRS S0
1. 6
2. 7
3. 8
4. 9

141. The same person can be appointed as a governor for two or
more states as per this Article

B0 BE S T o® &8 F53D ASHS AoA0WSN)
o BT 955

1 158 (3a)
2. 161 (3a)
3. 163 (la)
4. 153 (8a)



142.

Identify the correct statement regarding the formation of the
Nagar Panchayat

a.

The councillors or ward members are chosen by
indirect election from wards in the Nagar Panchayat.

Each Nagar Panchayat has a committee consisting of a
chairman with ward councillors

Every Nagar Panchayat committee consists of a
minimum of 10 elected ward members and three
nominated members.

The Notified Area Council members are elected for a
term of five years.

SKE D0T°00d J0°Ye0sE 1020R0D HJS TTEO™
5801506,

a.

Ll A .

TS B Tt vogen D6°§ YT oo
SKS Domrand & TO HoD gasg)geac;@d).

(58 K8 DoTreodS” T TG 200 BEYNS®
2.5 508 &oeod.

©8 K8 Domrond 56" 5350 10 3008 JNSDES
T D20 $oBA0 S0K TWIEE Beb5e0 SOLrEDd

SKE Boirond SHEpE D8 $1e Hebgen
5ROIOEEFD ASYE S,

a,c,d
b, c,d
a,b,c
a,b,c,d



143.

144.

The second one of the Sustainable Development Goals is
1. No Poverty
Zero Hunger

Reduced Inequalities

B w

Sustainable Cities and Communities
USSR ARA os°§e>e55 (SDG) &° Boxsd

1. RIafol] K)Cir&e)zé

2. 5599 9080 BALEo

3. oRsrEse $RoY

4, 986 SKTPD 0B Doeeseen

The book, ‘Gulamgiri’ was written by Jyothirao Phule
in this year

s 260;59‘.(9‘350656 éige‘iém;@ T8 WeroRD’ 0 YIS TFD
1 1863
2. 1865
3. 1870
4 1873



145. The evaluation method that contribute for the knowledge
building of the student throughout the year

1. Summative assessment
2. Diagnostic assessment
3. Formative assessment

4, Interim assessment

ROSBYBO FPEIT g Book), 2pS Ao YeTS SRt
;Sweﬂagogé ég@

1 QOITeT B S Sore§08S0

&% DZes Sre§o8s0

30“’&8?95 &§ ;535°®°§o§:60

~wN

;Socsagoéd ;535°e7°§o§(60

146. “All types of plants breathe’. This is a
1 Generalization
2 Theory
3. Projection
4 Feeling
‘@) T5°O o FEAT00." 30 &8
1. P TEIESe

SlnelaTe)

[ev]

\FE)S

W

ALNIY



147. “If you want to shine like a sun, first burn like a sun”
is quoted by

1. A.P.J. Abdul Kalam
2. A.W. Green

3. Richardson

4. Einstein

" BB 5B (PSBOTIBIOE, In0e5ed Y wrEg 5B
$005°0” ©d BR)SIW

1. .3, @285§QJ’°O
2. A BS
3. 838 v
o
4, 0S55HT
[A]

148. Find the option below that is not a ‘Teacher Centered
Teaching Method’

1. Lecture Method

2. Resource Method

3. Story Method

4. Basic Method

808 IS ‘Gerergen ToBE)S SET BES” 50 T
$o80506.

s W N
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149.

150.

Find out the learning indicator that is not related to
‘Conceptual Understanding’

1. Classifying the topic

2. Being able to give examples

3. Preparing reports

4. Predicting the concepts

VIS 002050 WLFOIT BDES HHBoB0s.

1. 0T 5888050
N
2 GOPITEIO0 Béo)fiemcéo
3. JIOEDS) S$AITE TAEo
4 DAASTOL &853°05E0

The chart used for showing the different stages of
manufacturing an object is

1. Procedure chart

2. Family tree chart

3. Organisational chart

4. Stream chart

2.8 S B DAHE0S® AV S¥OSH “roSEIL
GIABKIT T

1. IS Y

2 SOFINg 8
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